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Déterminer :

a) lim
x  -

ln (1 + ex) .

On sait  lim
x  -

ex = 0 , d’où  lim
x  -

(1 + ex) = 1  et   lim
x  -

ln (1 + ex) = ln 1 = 0 .

b)    lim
x  +

ln 



ex

ex + 1 .

ex

ex + 1 = 1

1 + 1ex

. Comme  lim
x  +

ex = + , on déduit lim
x  +

1
ex = 0 .

D’où :  lim
x  +

ex

ex + 1 = 1  et lim
x  +

ln 



ex

ex + 1 = ln (1) = 0 .

c)  lim
x  -

ln 



x2

1 + ex .

On sait  lim
x  -

ex = 0 , d’où  lim
x  -

(1 + ex) = 1 . On déduit :  lim
x  -

ln 



x2

1 + ex = lim
x  -

ln (x2) = + .

Attention :  Ne pas écrire  ln (x2) = 2.ln (x)  mais  ln (x2) = 2.ln |x| .

d)    lim
x  +

e1 + ln (x) .

Si  x  + :  1 + ln (x)  + et  lim
x  +

e1 + ln (x) = + .

e)     lim
x  0+

e2 + ln (x) .

Si  x  0+ :  2 + ln (x)  - et  lim
x  0+

e2 + ln (x) = 0 .

Remarque :  e2 + ln (x) = e2×eln (x) = e2×x , avec  lim
x  0+

( e2×x) = e2× lim
x  0+

x = 0 .


